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Q‘3'“ld“Iel’l'mlm:tuf:
® a? and (a2 - 2
@) axy and (- 2x - 3y)
(i) a and (a2 - = 2ab + b?)
@) ax? and (- x2 - y2 4 2y)
Solution,
() @ x (@ - b?)
= (@ xa) + (a? x = p?)
= a' —a%? Ans.
) dxyx (- 2x-3y)
= (4xyx—-2x)+(4xyx—3y)
= —8.:2_\?—12,\3:2 Ans.
(i) aX(az—Zab+b2)
= (@Xa®) +(ax— 2ab) +(ax b?)
=g - 2a2b+ab2Ans
() 4x % (—x2 —y? +2x) _
= (4x% x—x%) +(4x% x— ¥2)
+(4x X 2x)
= —4x4 —4x%y% +8x3 Ans.

Q. 4. Simplify the following and find its value
with the given value of the variable

1
(i’) xBx+2)-7ifx= landx-i

%yi(zyz 7y) +8ify=0and y =
(@) xy (y-xy?)ifx=1,y=2
(iv) ab (a + ab + abc) for a = 2,b=1c=0
Solution. '
@) xCBx+2)—7=3x2+2x— 7 Ans.
For 55 1,

3x2+2x—7=3(1)2+2(1)—7
=3'+2—-7=-'-2Ans.
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(ii) xy (x2y = 59°) ;?f-
= (xyXx y)+(r?’f
- Xy - Ame,
Forxnl y=2,
e y _x2y3 = (1)? (2)2"(”2W
=1x4=+1x8 gT
=4-8=-4Ans.
(i) y (2y* = Ty)+8 = 2y =7y +1
For y = 0,
2y’ =7y* +8 = 2(0) +7(°)2*' B
=040+8=8 Ans.
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by =F
v

Fory=-1, ?

2y’ -T2 +8 = 2 (- 1)’ 7124
=-2-7+8
=-9+8-—1Aﬁ.

(iv) ab (a+ab+abc)-' 2b+a2

Fora =00 b =4 e =) ,

a®b + a*b? + a®b’c k!

= (2’ x1+(2)* x (1) +(2)2ac

=4+4+0=8 Ans.
Q. 5. Add :

@ xXx-y),y(y- Z)andz(z 3
@) 2x (x-y-2) andZy(z-y <
Anms. () x(x— y) -xz— F

-w
. zhz - ghead —zx o
Now, add

A:g

xz—xy

b e







